
MOUNTING POWERSTRIPS 
ASSEMBLY INSTRUCTIONS

15A or 20A Powerstrips and Mounting Brackets: Do not remove components from cartons prior to assembly.  Use the 
packing list to locate components.  Keep hardware kits in labeled packaging until ready to use.

• When one Upright is specified,
mount Powerstrip using brackets.

ASSEMBLY TIPS

WORKPLACE MODULAR SYSTEMS		 800-258-9700 LIT #AG-01 (REV. 08/18)

MOUNTING TO UPRIGHTS: Line up Powerstrip to desired location on Uprights, 
fasten with KIT-32A.  

MOUNTING ON LEG SECTIONS:  Mount leg bracket body to rear of Powerstrip  
using 1/4-20x1/2 RHMS. Hold Powerstrip/Bracket Assembly to Leg Sections 
(bracket body around Leg), slide rear plate through body and clamp to Leg using 
the 1/4-20 Flange Nut and 1/4-20x1/2 RHMS.  

HARDWARE INCLUDED 

     KIT-32A 
     1/4” Flat Washers (2) 
     1/4-20 x 3/4 HHCS (2)

  KIT-23 
     5/16” Flat Washer (8) 
     5/16-18 Flange Nuts (2) 
     5/16-18 x 3/4” HHCS (6) 

     KIT-08 (Rear Mount with Uprights) 
     5/16” Flat Washers (4) 
     5/16-18 x 3/4” HHCS (4)

MOUNTING WITH BRACKETS:  Align bracket lip to threaded inserts on bottom of 
Powerstrip, fasten 5/16-18 Flange Nut and Washer from KIT-23.  Fasten Power-
strip/bracket assembly to Frame using remaining KIT-23 hardware.  

• To Rear Mount Powerstrip on table
with Uprights, follow Rear Mount-
ing instructions, but position
Upright between Leg and 31131
Bracket.  Fasten with KIT-08.

REAR MOUNTING:  Mount 31131 Bracket to back of Powerstrip utilizing threaded 
inserts found in back of Powerstrip.  Remove hardware from back of Swaybrace 
and set aside.  Fasten Powerstrip/brackets to rear of Leg Sections using the  
previously removed hardware.  

• Fasten Solid Uprights to rear of Leg
Sections using KIT-08.


